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QUESTION 1

A manager wants to know why traditional usage metering tools are less effective in a private cloud environment
thanthey are in physical environments.What statement provides the best response? 

A. Traditional monitoring tools won\\'t work in a cloud environment. 

B. Traditional metering tools require agents to be installed, which don\\'t work in virtual machines. 

C. Resource usage is based on the overall demand of all virtual machines instead of per server. 

D. This is not true, traditional usage metering tools are still the best choice. 

Correct Answer: B 

 

QUESTION 2

A company has purchased several ESXi hosts that contain multiple hard disks and SSD drives. Which technology will
allow the company to combine the hard disks and SSD drives into a software-based high-performance storage pool? 

A. Storage APIs 

B. VMFS 

C. Virtual SAN 

D. High Availability 

Correct Answer: B 

 

QUESTION 3

Which VMware product will help ensure the most appropriate operating system, amount of storage and number of
vCPUs are assigned when creating a vApp according to a given budget? 

A. vRealize Orchestrator 

B. vRealize Operations 

C. vRealize Business 

D. vRealize Automation 

Correct Answer: B 

 

QUESTION 4

A company needs a solution that allows moving some of the datacenter\\'s workload to a public cloud during peak
hours.The company does not want to pay for unused capacity during non-peak hours. Which VMware product will fulfill
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this task? 

A. vRealize APIs 

B. vCloud Connector 

C. vRealize Automation 

D. VMware NSX 

Correct Answer: C 

 

QUESTION 5

A consultant has been hired to architect a hybrid cloud solution for a client. The consultant decides to build two clouds:
one for development and one for production. Which product can move workloads from the development cloud to the
cloud? 

A. vFabiic Suite 

B. vCioud Connector 

C. vCenter Server 

D. vRealize Operations 

Correct Answer: B 
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